Unit 1, Vocabulary and Algebr'ci' Name: Prirmace Crtum

Notes 1-3: Complementary and Supplementary Angles  Date: /4 /\& Period:

Complementary Angles - Odd wpP to 90°
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Ex. 1 In the picture above, mZ1=x+8andm~2=x+2. Find xand m. 2.

><““'8}+><+1:qo X = = O Ho 1= H

x+10=€q N
7 VO 1O

707
Ex. 2 Z5is the complement of Z6. If m£5=2x~4and m£L6 = x+16, find x and m £ 6.
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Notes 2-4 Complementary and Supplementary Angles
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Ex. 3 Inthe picture above, m£1=6x+20and m£2=2x. FindxandmZL (4370 +1x=: 130
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Ex.4 <3 and £4 area linear pair. m£3=2x-5andm2L4 = 3x+45. Find xand m £ 4.
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Ex 5 In the picture to the right, find x and m £ ABE.
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Geometry Name: Finmes Cacetn
Worksheet 1-3 Date: Period:

Use the Four-Step Problem-Solving Procedure for each problem. Write your final answers
in the appropriate blank,

Complementary Angles

1. m£Zl=4x~-3andm<£2=x+8. Findxand m£2, 4
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2. Z5is the complement of £6. If m£5=8x~6andm2L6 =14x + 8, find x and m £ 6.
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Supplementary Angles/Linear Pair
5. mAl=2x+4andm~£2=6x+20. Findxand m21. O
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6. £3and L4 arealinear pair. m£3 = 12x-15and m£L4 = 3x + 45, Find x and m £ 4.
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7. In the picture to the right, find x and m £ ABE.
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8. In the picture to the right, find x and m £ ABC.
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9. TM L RS, mZQMS = 58°. Find the measure of each angle.
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10. mZLAEC= 3x+B and m £ DEF = 2x - 15. Find m £ DEF, m,é%EB, and m £ CEB.
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